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(5.’7&&)25)&3(5 )
(1) ¢3® »oT».
(M4 X+2)—2 (x+2) (i)4 (x—6)—6(2+X)
(iiiy3 (x—2) = (x+2) (iv) 4 (y—5X)—2 (Y +3X+2)
(v) 4X (X+2) —3x (x—3) (vij —6a (@a-3)—-3(@-1+Dhb)
(2) 80 BDoTH.
MH—(y+1)-3(y+2) (i) =3 (y-2)-3(6-Y)
(i) — (2—a)—3(a+3) (iv) =X (X+3)—2x(1—Xx)
v)a(a+6)—a(a+2) (via(a—1)—a(6—a)

@08eF ed¢ »5® wew .



5.8 gD D e &lor) D86 e O O FEEIDG
B & g Gon GICE®E

BEG DIRDED @D BCBBIO oD BIFOD 303 0wl® medn [8e 0 @2
7 o@&hed & genm eo» am. deck SO @853 S8n YIRHBWO BeABVITBOD
200 Ce.

B’ a8 aws o RS B8 SEG GG FEID LTI L3oDBIBOD FOBSS
g0ed® 0, 98 &8s ymIemed gOn @B

P=4,0=2 ©» I'=-3 0> 80, 2P+ — I+ 1 ymamed a6n @e0ss.
2p+Q-r+1 =2x4+2—(=3) +1

=8+2+3+1

=14

s a8 O0wsY w8n BEG GPIRHED G} FW@ID BTHI ABVIBOD FOWBSS
gred® w0, 08 DBn YIEHed EOG ©830BE.

X=2, Yy=5e»z=10 & 80, 3 (X+Y) +Z 88x gmemed a0ws @0@.

3(X+y)+z=302+5)+10 e  3(X+Y)+Z=3X +3y+2
=3x7+10 =3xX2+ 3x5+10
=21+10 =6+15+10
=31 =31
Seg» 1

X=4,Yy=3 39 Z=2082 8O, 2X — Y — 27 2ODOE BOB GBI,
2X—Y—22=2 X4 —-1X3—-2X2

=8—-3—4

=1

Segd 2

P=50=-2 &»pl=-38x 8O, —P+20—3r+7 5gRDHEE EHB @L0BSID.
—P+2q—3r+7=—1 X542 x (—2) —3 X (—3) +7

= (=5 + (4= (=9) +7

=9+ (9 +7

=0 +7

=7

e08eE e »18® wem «.



Seg» 3

a=4, b=5wwc=8o» 89, 6 (2a—-b)—C 88s yoemed o @eIEsiD.
6(a—-b)—-c=6 (2x4-5)-8

=6(8-5)-8
=6x3—28
=18—-8 =10
Seg» 4
k=4, l=1ewr=-30» 89, 10 (k—-1)+r 88s gmaned gvws eensiD.
10(k-0)+r=10(4-1)+ (-3)
=10 x3—-3
=30—-3=27
Beg» 5

543y —4X — Y +8 meme d 0, X=2, Y=-1 Od» 30, 8&c gmiamed
EOE EEIBBID).
5X+3y—4X — Y+8=5X—4X+3y — Y +38
=X+2y +8
e®® 81 ymIamess a8 a@IHOEO & a8 20!y’ Gelrewrss,
X+2y+8=2+2(-1)+8
=2+ (-2)+8
=0+8=28

SBeg» 6

4(@a-2b)+2 (b-3c) ymems g© »5, a=3 b=1c=-18» 5O
B8s IRmEE OB @8BEID.

4(@-2b)+2 (b—-3c)=4xa —4x2b +2xb—-2x3cC
=4a—-8b +2b—-6C
=4a—6b—6C
e®® 81 ywIamess a8 a®OEO, & S 2vwrs’ tednr we O,
4a—-6b—6C=4%x3—-6x1—6x(—1)
=12-6+6
=12

@08eF ed¢ »5® wew .



(5.8 EBBB )

(1) X==3,y=—1,2=0 9 8O, o0 & a8 23 23 520DeE BOG @830B535).
()X +y (i)Y +32+7 (iiil) X — 4y + 42
(iVyX+y-—12 (v) Z (2x —3y) (vi) 5y — 4z + 3%

(2) (i) e®8 ¢Peds whenmieged o | cm ¢ sge bem ¢
©D. 008 888w ¢PD®0 BB YrmIrmWS ELsim.

(i)l =10cm o b =7 cM 9> 50 cnemienged ©888w¢ @ernsiD.
(iii)b =5cm o |, be®s? ccnencs O 80, &8 888w ewiasis.

(ivyb =12 cm o |, bo 280 8 CMB= 98 O 8O enewmienged =885
©E30BBIB).

(3) 2X =9y —4Z+ 7 w3 BEB GIRDSB LEDBIB.
()X=4,y=3e» 2=—2 O 8O, O© TES 5IGDHOE OGS ELIBBIB).
(([)X=10,y=15 e 2=—1 O 8O, O® TESB GWIGDHOE BOG GLIBBIB).
(i) X=—4,y=—3e» 2=—2 9 20, O© TEs DIl BOG @LEEID.
(iV)X=2,Yy=—32e» 2=0 O 8O, g IEB GRS EOG @EIBBID.

(4) s & a8 0 wdyglen ©OS3H.
(@)

) 8580 omIBHEns GEDORD FOrs
SRR Pobe cans Meimens’ o 886 gmeed e
3X + 2y + 10 X=4,y=3
2p —3q — 4r p=1,Qq=2r=-3
4a —b+5¢cC a=2,b=—4,c=1
(b)
S CLIE] SO TORS 880 omIBHEES GEDORD FrrS

Meimens) o 886 gmeed e

3(X +Y) + 10z X ,
4(@a+3b)+c a=5"b=1,c
1o(m+n)—Kk m=3,n
100 — 3(p + 2Q) p =4,
2(a + 2b)+ 5(a—b) a=4

@ e08eE e »18® wem «.



(5) s & 8 9 9 meme e W0, & B eors’ Mecrens’ 9 O

EDIRDIEE BOB @B,

(a=7e» b =12» 80, (iiym = 9es» N =29 5O,
10(a+2b) +3(a—sb) 4(m+3n) +m-+5n

(ii)p = 2 e q = 32 8O, (ivia =1,b =2es»c =-32» 80,
72p—0q) —10p+39—38 3(2a+7b) +3 (b +3c)—10

W) X =8y =—1 el ==2» 50,

4(x—15y) =3 (7-x)+sl

551103 1915 165)

BB IRHBEE €3BB3 Qen O SO OO BEB YWIRES €5:® e
®, O® wABIEDSI Qeh DE G ©.

B8ws scws, B8n verBs’ gen B8e®s3 credm d8n veed,

R eDB DesY 8ef OEw} B¢ e¢erS WREDIC QDS <&,

@ Beosied &me D53es’ sef S8s e oo gRIDOC Q&S ¢
@d.

B8 gmames, 88w@ verBs’ gen B8e® & 98 ddwe ymiemed 3:® d&w
e ® B8@ YIRDB Qen DE G DEB BLers’ Qe BE G 6.

BEG GDIODIED PEID BEBBIO 30ABIBOD OB Medr BBe®sl, O®
B8 5IRIBO 30ABIBOD oGS Cred.

@08eF ed¢ »5® wew .



